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Question Number : 1 Question Id : 50521224179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of children, 'development’ includes-
Options:

1. only qualitative changes.

2. only quantitative changes.

3. both qualitative and quantitative changes.

4. neither qualitative not quantitative changes.

Question Number : 1 Question Id : 50521224179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521224180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of use of fine motor skills?
Options :

1. Writing

2. Jumping

3. Running

4. Swimming

Question Number : 2 Question Id : 50521224180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 50521224181 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The ‘sensitive period’ in child development represents-

Options:

1. the optimal period for particular capacities to emerge in an individual.

2. the development period from conception to birth.

3. the development period of transition from childhood to early adulthood.

4. the development period of sudden hormonal changes in an individual.

Question Number : 3 Question Id : 50521224181 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521224182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Peer group-

Options :

1. has a significant role in secondary socialisation of childhood.
2. does not have any role in the socialisation of children.

3. has a small but insignificant role in the socialisation of children.



4. is not an agency of secondary socialisation.

Question Number : 4 Question Id : 50521224182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521224183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a sub-stage in Kohlberg's ‘conventional stage’ of Moral Development?
Options :

1. Instrumental purpose and exchange

2. Universal ethical principles

3. Morality of contract, rights and law

4. Social concern and conscience

Question Number : 5 Question Id : 50521224183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T W RN I0-STTT T IR 3 A0 (ST 1 U STaedT ¥ ST ST 27
Options :
1 ST 3599 UF HAEH-IEH

o, TR i s

3 &iﬂr‘ﬂ-ﬁ%mdl TS AER T BN

4. HTHITE TR ST AT

Question Number : 6 Question Id : 50521224184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Accommodation occurs when-

Options:

1. children transforms their experience to fit into existing schemes.

2. the children modify their schemas to make sense of new experiences.
3. the children break down their schemas into disconnected chunks.

4. the children focuses on abstract things rather than concrete experiences.

Question Number : 6 Question Id : 50521224184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521224185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 5year old child is shown 16 flowers, 4 of which are red and 12 are blue. When a 5 year old child
is asked if there are more blue flowers or flowers, the child is likely to respond that there are more

blue flowers. According to Jean Piaget's theory, the reason for this is that the child is yet to master-
Options :

1. seriation.

2. hierarchical classification.

3. transitive inference.

4, propositional thought.

Question Number : 7 Question Id : 50521224185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521224186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher facilitates the students in the teaching-learning process through peer interaction and

scaffolding. This teaching-learning process is based on -
Options :

1. Lawrence Kohlberg's development theory.

2. Jean Piaget’s cognitive development theory.

3. Lev Vygotsky's socio-cultural theory.

4. Howard Gardener’s multiple intelligence theory.

Question Number : 8 Question Id : 50521224186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521224187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Curricular goals in progressive education emphasise -
Options :

1. rote-memorisation.

2. conformity to authority.

3. critical thinking.

4. recall and drill.

Question Number : 9 Question Id : 50521224187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521224188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Howard Gardener’s theory of multiple intelligence, which of the following refers to

the ability to discriminate complex inner feelings and to use them to guide one’s own behaviour?



Options :

1. Interpersonal intelligence.
2. Intrapersonal intelligence.
3. Linguistic intelligence.

4. Naturalist intelligence.

Question Number : 10 Question Id : 50521224188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521224189 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion: It is very important to create a print rich environment in classroom.
Reason (R): Conducive environment plays a meaningful role in language development.

Choose the correct option.

Options :



1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 11 Question Id : 50521224189 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521224190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term refers to biological difference whereas refers to traits and behaviours that a

particular culture deems appropriate for men and women.
Options :

1. sex, gender

2. gender, sexuality

3. gender, sex



4, sexuality, gender

Question Number : 12 Question Id : 50521224190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521224191 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will be most appropriate statement for a multicultural classroom?
Options :

1. School should admit only those students who can communicate in the medium of instruction
used in the school.

2. Teacher should respect all languages and encourage students to communicate in the language

which they are comfortable to speak.

3. Teacher should penalize those students who communicate in the language other than the

specified medium of instruction.

4. Assessment should only be done in the medium of instruction specified by school.



Question Number : 13 Question Id : 50521224191 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 50521224192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Standardized tests of assessment-

Options :

1. prompts divergent thinking in students.

2. are based on rigid structures of evaluation.

3. employ multiple methods on needs and diversity of learners.

4. acknowledge that each individuals learns at a different pace.

Question Number : 14 Question Id : 50521224192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521224193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following method is suitable for the purpose of ‘assessment for learning'?
Options :

1. Exams only once a year

2. Regular documentation of children’s conceptual progress

3. Standardised tests

4. Quiz based only on recall

Question Number : 15 Question Id : 50521224193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 50521224194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher often encourages her students to describe the process which they used in solving a

mathematical problem. In context of process of learning, this strategy -
Options :

1. is meaningless.

2. should be used rarely.

3. can disrupt pace of learning.

4. helps in development skills.

Question Number : 16 Question Id : 50521224194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521224195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inclusive Education maintains appropriate standards of learning for students with:
(i) giftedness

(ii) autism

(iii) learning disorder

(iv) intellectual challenged
Options :

1. (i) (i) (iv)

2. (i) (i) (iif)

3. (ii) (iii) (iv)

4. (i) (i) (iii) (iv)

Question Number : 17 Question Id : 50521224195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4 (D), (i), (iii), (iv)

Question Number : 18 Question Id : 50521224196 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A condition in which a child frequently omits substitutes or reverses the letters and word while

reading is called:
Options :

1. Dyslexia

2. Autism

3. Learned helplessness

4. Attention Deficit Hyperactivity Disorder

Question Number : 18 Question Id : 50521224196 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521224197 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bindu is very enthusiastic to do projects on her own. She comes up with original and divergent

solutions. These are characteristics of -
Options :

1. egocentrism

2. creativity

3. extrinsic motivation

4. cognitive delay

Question Number : 19 Question Id : 50521224197 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 50521224198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following set of learning materials is suitable for students who are partially sighted?
(i) Large - print books

(i) Three - dimensional ways and charts

(iii) Small - print worksheets

(iv) Software that convert text to speech
Options :

1. (i), (iii), (iv)

2. (i), (i), (iv)

3. (i), (i), (iv)

4. (i), (i), (iii)

Question Number : 20 Question Id : 50521224198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4 (1), (i1), (ii1)

Question Number : 21 Question Id : 50521224199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an effective strategy to support children’s learning in the classroom?
Options :

1. Helping students develop concept maps

2. Teaching students the use of mnemonics and chunking

3. Asking students to passively copy the solution of question

4. Encouraging children to sit and learn with peers.

Question Number : 21 Question Id : 50521224199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521224200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following questions is related to procedural knowledge?
Options:

1. What is the capital of America?

2. What is the difference between map and globe?

3. What is the method of adding 3-digit numbers?

4. What is the definition of photo-synthesis?

Question Number : 22 Question Id : 50521224200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521224201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 proposes that education should be -
Options:

1. focused on drill and practice.

2. inquiry driven; discovery oriented.

3. textbook and teacher centric.



4. oriented towards learning for exams.

Question Number : 23 Question Id : 50521224201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521224202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements best defines meaningful learning?
Options :

1. Learning is limited to remembering facts given in textbooks.

2. Learning is an active process that takes into account the information children learn outside of

school.
3. Learning is measurable by use of standardized paper pencil tests only.

4. In the process of learning, a student should receive information from the teacher only.

Question Number : 24 Question Id : 50521224202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521224203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In context of problem solving, getting stuck on one way of representing a problem is called -
Options :

1. functional fixedness.

2. response set.

3. analogical thinking.

4. means - end analysis.

Question Number : 25 Question Id : 50521224203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T % 6 A, T e 1 U 1 e § T O O SR S 6 e 2

Options :

[
1. TERTHTeH e



4 ST fEegEe

Question Number : 26 Question Id : 50521224204 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a classroom students are working in small groups on a task and teacher facilitates each group.

Which approach is being followed in the classroom?
Options :

1. Behaviouristic

2. Constructivistic

3. Psychoanalytic

4. Expository

Question Number : 26 Question Id : 50521224204 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521224205 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The problem solving strategy in which one begins from the goal and moves back sequentially to

figure out solution is called -
Options :

1. analogy.

2. working backward strategy.
3. algorithm.

4. mnemonics.

Question Number : 27 Question Id : 50521224205 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T AT 251 % e 7 57 7 0% T Wﬁmwmmww%_
R
Options :

FHIEUH

1. ==

[ ™
, TETHT FTHIFH] T

3 e Tt

4, T HET Tt

Question Number : 28 Question Id : 50521224206 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When children make errors -

Options :

1. they should not be valued in the classroom.

2. they should be asked to keep repeating the task till the time they omit the error.
3. they should be shifted to a separate section of the classroom.

4. the teacher should have discussions with the child to gain an understanding about child’s

thinking.

Question Number : 28 Question Id : 50521224206 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Options:

| I T H qEed 6] AT =
, I F I AR S F (70 Fe1 MV, & 7 1 o Tereit 1 o 7 3

5 T T F T ST @UE F A3 A

o W e Sl nt o~ ! i W W o L a
4 ﬁ'rwiﬁqm ?mpfwta-i-wa-i?mprmmmH‘Hﬂm?ﬁmudﬂmﬁmﬂm m{v!ITT%TT* |

Question Number : 29 Question Id : 50521224207 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How can a teacher encourage her students to remain intrinsically motivated for learning?
Options :

1. By inducing anxiety and fear.



2. By giving competitive tests.

3. By supporting them in setting individual mastery goals for themselves.

4. By offering tangible rewards such as toffees.

Question Number : 29 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 50521224207 Question Type : MCQ Option Shuffling : Yes
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Question Number : 30 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 50521224208 Question Type : MCQ Option Shuffling : Yes

A student’s ability to plan, monitor, evaluate and modify her own learning is known as -

Options :

1. attention.

2. recall.

3. memorisation.

4. metacognition.

Question Number : 30 Question Id

: 50521224208 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 50521224209 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Numbers 1-200 are written on the floor. Three friends Chang, Sneha and Salim started to jump on the numbers. Chang

7th 5t number. Salim is on 106 and he

is on 83 and he jumps on every 7™ number. Sneha is on 94 and she jumps on every

4" number, The common number on which all of them jump will be

jumps on every
Options :

1. 112
5> 114
3 124

4 142

Question Number : 31 Question Id : 50521224209 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1 112

5 114

3 124

4 142

Question Number : 32 Question Id : 50521224210 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In a school auditorium 2/7 of the students are girls. I there are 111 more boys than girls, how many boys are there in
the school auditorium?

Options:
1. 400

5 315
3. 259

4 185

Question Number : 32 Question Id : 50521224210 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 400

Question Number : 33 Question Id : 50521224211 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



How many ones are there in the number 977
Options :
1.9

Question Number : 33 Question Id : 50521224211 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
97 & fepeT gehTEaT 22

Options:
1.9

Question Number : 34 Question Id : 50521224212 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a division question, the divisor is 6 times the quotient and twice the remainder. If the remainder is 6, what is the
number?

Options :
1. 30



3. 24

Question Number : 34 Question Id : 50521224212 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 30

2. 36

Question Number : 35 Question Id : 50521224213 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Find the difference between the smallest four digit number and the largest two digit number
Options:
1. 91

5> 900



3 991

4. 901

Question Number : 35 Question Id : 50521224213 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 91

5, 900
3. 991

4. 901

Question Number : 36 Question Id : 50521224214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The price list shown in a vegetable shop is given below.

[tem price/kg

1. Amla 3120
2. Brinjal 360
3. ladyfinger 345
4, Potato 138
5. Tomato 42
6. Onion )

Ramu bought 250g amla, % kg brinjal, kg lady finger, 21 kg potato, 13 kg tomato and 13 kg onion. He gave 3400 to the
shopkeeper. How much did he get back?

Options :
1. X179



5 %89
3. %189

4 %79

Question Number : 36 Question Id : 50521224214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T et o ) T A e

T 37 o
$120

260

U5

338

42

2

g %;.% g%%*oﬁ

THA 250 T ST, - Fm’mﬁm | fom. T, 7—%mam 1—wmaﬁu— I I B T
wwmo%wﬁmmmﬁw

Options :
1. 179
2 I89

3. ¥189

4 T79



Question Number : 37 Question Id : 50521224215 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words will read exactly the same on half a turn?
Options:
1. ZOOM
2. SWIMS

3. HOW

4. SIX

Question Number : 37 Question Id : 50521224215 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ZOOM
> SWIMS

3. HOW

4. SIX

Question Number : 38 Question Id : 50521224216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Teacher tells students that the height of the world’s tallest building is 828m. Jagath responds ‘If we make a stack of our
classroom horizontally, 120 classrooms can cover that building” What is the height of Jagath’s classroom?

Options :
1. 7.4 meter

2. 6.9 meter
3. 5.8 meter

4. 9.6 meter

Question Number : 38 Question Id : 50521224216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 7.4 T

2. 6.9 HZT

3. 5.8 "X

4. 9.6 HZT

Question Number : 39 Question Id : 50521224217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Rita has the longest jump of 3m 40cm. Tanu is second. Her jump is 20cm less than Rita's. Rihanna comes third. Her
jump is only 5¢cm less than Tanu's jump. By how many centimetres Rihana could not secure the first rank?

Options :
1. 20cm

2. 15cm
3. 25cm

4. 5cm

Question Number : 39 Question Id : 50521224217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 20 T

5 15 FEHET

3, 25 T

-

4, 9

Question Number : 40 Question Id : 50521224218 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How many squares of side 2cm are needed to make a rectangle of length 8cm and breadth 6cm?



Options :
1. 6

3. 10

Question Number : 40 Question Id : 50521224218 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1. 6

3. 10

4. 12

Question Number : 41 Question Id : 50521224219 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Three-fourth of a meter is same as
Options:

1. 34cm



2. /5cm
3. 3m4cm

4. 3m 40cm

Question Number : 41 Question Id : 50521224219 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 50521224220 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rinku uses cycle to reach school every day. If he reaches school from home in 13 minutes by travelling at a uniform
speed of 6km/h, what will be the distance between his school and home?

Options :
1. 1400m

5> 1350m



3. 1450m

4. 1300m

Question Number : 42 Question Id : 50521224220 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 1400 =72

5> 1350 712

3 1450

4. 1300 Hiex

Question Number : 43 Question Id : 50521224221 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the value of 2-2+2-2+2-2......1

Options :
1. Owhenn is even

2. 2whenn is even

3. -2when 1 is odd



4. Owhenn is odd

Question Number : 43 Question Id : 50521224221 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 50521224222 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aneesh makes a bucket full of lemon drinks to sell at the fair. He has a bucket, small glass and large glass respectively,
which can contain 20 litres, 250ml, and 400ml of lemon drink. If Aneesh has sold 45 small glasses and 21 large glasses
of lemon drinks, then how much lemon drink has been left in the bucket?

Options :
1. 250ml
2. 2 litres

3. 350ml

4. 3000ml



Question Number : 44 Question Id : 50521224222 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 250 To=t,

2, 2 I
3. 350 fo=i.

4. 3000 Tor=T.

Question Number : 45 Question Id : 50521224223 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After ten years Manisha's age will be five times of her age six years ago. What is the present age of Manisha?
Options:

1. 15 years

2. 8 years

3. 8.5 years

4. 10 years



Question Number : 45 Question Id : 50521224223 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 1599

Question Number : 46 Question Id : 50521224224 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the domains of knowledge given by Jean Piaget, which of the following statement is true?
Options :

1. Numbers come under physical knowledge as children learn numbers by associating them with counting of objects.
2. Numbers come under sacial conventional knowledge as children learn through real world experiences.

3 Numbers come under logico-mathematical knowledge as numbers are the relationships a child creates mentally.

4. Numbers come under socio-cultural knowledge as each culture represents numbers differently.

Question Number : 46 Question Id : 50521224224 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 50521224225 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher gives cut outs of squares of different side lengths to her students. She asks them to trace the square on a
graph paper and count the number of square-boxes traced. She then asks her students to arrive at a relationship
between the side length of the square and number of hoxes traced by them. Which of the following method is being
used by the teacher?

Options :
1. Inductive Method
2. Lecture Method

3. Deductive Method

4. Laboratory Method

Question Number : 47 Question Id : 50521224225 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. SRR Aty
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Question Number : 48 Question Id : 50521224226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about the use of technology in teaching and learning of mathematics?
Options :

1 The use of technology decreases the importance of a mathematics teacher.
o Technology is not mathematics, it is simply a way of doing mathematics.

3. Students will not practice enough questions with the use of technology.

4. Technology reduces the scope of exploration and discovery in mathematics.

Question Number : 48 Question Id : 50521224226 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 50521224227 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A primary grade mathematics teacher writes the following two word problems based on addition on the blackhoard:
(i) Thereare 11 balls in one hag and 14 in another. How many halls are there in total?
(i) The price of atoy caris Rs. 245. If the price is increased by Rs.50, then what is the new price of the toy car?
Which of the following statements represent the purpose of asking the above two word problems?

Options:

Students should be able to understand the mathematical structure of addition and identify the use of concept of
1 addition in a variety of situations.

5 Students learn to differentiate between word problems of addition and subtraction.
3. The given two situations of addition are the only structures of addition required to be learnt at primary level.

4. The given word problems just serve the purpose of adding variety to word problems.



Question Number : 49 Question Id : 50521224227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 50521224228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘National Curriculum Framework’ 2005 envisions that the school mathematics takes place in a situation where:
Options :

1 Students are able to solve problems using paper-pencil technigues.

o Students are studying mathematics with a focus on formulae and procedure.

3 Students see mathematic as part of their life experiences and pose and solve meaningful problems.

4. Students perform successfully in mathematics examination.



Question Number : 50 Question Id : 50521224228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 50521224229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mathematical games and puzzles help in:
(i) making connections between mathematics and everyday thinking.
(i) enabling children develop a positive attitude towards mathematics
(i) reducing the work of a teacher and break the monotony of solving problems on blackboard.
(iv)  maintaining discipline in the class.
Choose the correct option:-

Options:
1. (i)and (iv)

5 (i) and (ii)

3. (ii)and(ii)



4. (i), (i)and(iii)

Question Number : 51 Question Id : 50521224229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 50521224230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Patterns ‘is an important mathematical concept at primary level because
Options :

1. Patterns are attractive to look at

o Patterns can be made by using variety of materials



3 Patterns can be made in many ways

4. Patterns develop the basic concepts of algebra among learners

Question Number : 52 Question Id : 50521224230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T W U (W) T3 Hecarqul 0T TR0 2, F016:

Options:

1

.

=y P o S Y (i = ™
5 udﬂﬂﬁmm&‘?lﬁl{%ﬁﬂmﬁwmu ERIES IR IR

3. USH 3THF THER T T T TR 2

U, STeATTeRataT! O sisTird AT AT STTIRONST T (T ed F4 2

Question Number : 53 Question Id : 50521224231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A mathematics teacher posed the following question to his students:

"Make the greatest and the smallest 4-digit numbers using any four different digits but with the condition that digit 6 is
always at one's place”

Which of the following statements is correct in the above context.

Options:

1 It is an example of open ended question.

2 The data given in the question is insufficient to solve it.



3 The question has a unique answer to arrive which requires the use of logical thinking.

4. Such questions should be avoided to be asked in the class as a lot of time is wasted in solving them.

Question Number : 53 Question Id : 50521224231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 50521224232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Journal writing by students as a ‘Mathematics Assessment Tool’ focuses on
Options:

1. Encouraging students to reflect on the problems related to mathematics teaching and learning,



2 Addressing general problems faced by students in a classroom.
3 Improving mathematical language of students.

4. Improving problem solving skills of students.

Question Number : 54 Question Id : 50521224232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 50521224233 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An elementary school mathematics teacher decides to make a ‘unit plan’ on “Geometrical Shapes”. He writes the
following expected learning outcomes.

() Recognize various shapes

(i)  Differentiate between various shapes

(iil)  Identify sides, angles and vertices of shapes
Which of the following levels of Van Hiele's geometric reasoning is he assessing his students on?

Options :



1. Deduction level
2. Axiomatic level
3. Visualisation level

4. Analysis level

Question Number : 55 Question Id : 50521224233 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 50521224234 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is the last step in development of number sense (up to 10) in children?
Options :

1. Learning the sequence of numbers
2 Learning to read and write numerals
3 Learning to count using number names

4. Learning what comes after/before a given number

Question Number : 56 Question Id : 50521224234 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 50521224235 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher has given the following assignment to the children “Your friend was absent from the class and missed the

lesson on Area and Perimeter. Write a letter to him explaining the difference between the two. You can use diagrams
also’.

The purpose of giving such kind of task in mathematics is
(i) toknow student’s understanding of the concept taught
(i) tohelpthe ahsentee student complete his missed work
(i) toteach the student how to write a letter
(v)  toenhance student’s mathematical communication

Options :

. (i) i)
2. (ii), (1)
3 (i)

4. iii),(iv)

Question Number : 57 Question Id : 50521224235 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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5 (@), (V)

4. (1i0), (iv)

Question Number : 58 Question Id : 50521224236 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When posed with a problem on subtraction, ‘400-45, a student responded. “If it were 40, then the answer would be
60, but its 45 so its 55,155,255,355, therefore, 400-45 is 355."
Which one of the following statements is correct for the strategy used by the student?

Options :
1. Only standard algorithm is desirable for solving such problems, hence it is an incorrect method.
5 Itis an informal algorithm and reflects student’s mathematical thinking process

3. The student will get zero marks for using this strategy to solve a problem based on subtraction

g It is a hit and trial method of solving a problem

Question Number : 58 Question Id : 50521224236 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 50521224237 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nihal has received 78 percentile marks in a mathematics test. It is an example of which of the following tests?
Options:

1. Criterion-Referenced Test
2. Norm-Reference Test

3. Diagnostic Test

4. Aptitude Test

Question Number : 59 Question Id : 50521224237 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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4. SATIRITET G

Question Number : 60 Question Id : 50521224238 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Following is the sequence of activities for conceptual development of 3-D shapes. They are in random sequence.
()  Comparing two shapesand identifying the similarities and differences
(i)  Constructing 3-D shapes with play-dough
(i)  Making shapes using nets
(iv)  Constructing shapes using geometrical tools such as compass, ruler
Which of the following represents the correct order of sequence?

Options :
1. (i), (i), (i), (iv)

2. (i), (i), (iv), (i)

3. (i), (1), (iv), (iii)

4, (iv),(iie), (i), (i)

Question Number : 60 Question Id : 50521224238 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :



(i), (1), (iiD), (iv)

—_—

(1), (1), (1v), (iii)

N

(i), (1), (iv), (i)

3
4. (1v), (iii), (ii), (1)

Environmental Studies
Section Id : 505212778
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121406
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 50521224239 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Radha's teacher observed that Radha is finding difficulty in reading blackboard. Doctor suggests

that Radha needs to increase the food rich in which of the following nutrients :

Options:



1. Vitamin K
2. Vitamin A
3. Vitamin C

4. Vitamin D

Question Number : 61 Question Id : 50521224239 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 62 Question Id : 50521224240 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wild life sanctuary that is famous for Conservation and protection of "Hangul Deer".
Options :

1. Sariska

2. Dachigam

3. Jim Corbett

4. Ranikhet



Question Number : 62 Question Id : 50521224240 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 50521224241 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ozone layer protection is an important environmental initiative undertaken all over the world.

Select the reason that led to protection of Ozone layer.
Options :

1. Ramsar Convention

2. Mantreal Protocol

3. Kyoto Protocol

4. Durban Summit

Question Number : 63 Question Id : 50521224241 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 50521224242 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The bird that was common sight in Delhi but now a special day is observed to raise awareness

about the bird as it has became rare due to the urbanization. The bird is ?
Options :

1. Peacock

2. Koel

3. Parrot

4. Sparrow

Question Number : 64 Question Id : 50521224242 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 50521224243 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In which of the following places you can see boats being used as mode of transport :
Options :

1. Ladakh and Kargil

2. Kashmir and Kerela

3. Sikkim and Darjeeling

4. Delhi and Mizoram

Question Number : 65 Question Id : 50521224243 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 50521224244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOTan insectivorous plant :
Options :

1. Dionea

2. Nepenthes

3. Ageratum

4. Sundew

Question Number : 66 Question Id : 50521224244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 67 Question Id : 50521224245 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rani finds a piece of cloth that is:



1. Very strong and bright coloured

2. Does not have many pores

3. Produces smell on burning

4. Is available everywhere and has multiple uses
5. Cannot be worn during high temperature

Identify the fabric.
Options :

1. Silk

2. Polyster

3. Cotton

4. Rayon

Question Number : 67 Question Id : 50521224245 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 50521224246 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If two organisms belonging to two different species come together in association and one is

harmed and the other is benefitted, such association is :
Options:

1. Parasitism

2. Symbiosis

3. Mutalism

4. Commensalism

Question Number : 68 Question Id : 50521224246 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:



Question Number : 69 Question Id : 50521224247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a green house gas ?
Options :

1. Methane

2. Carbon dioxide

3. Sulphur dioxide

4. Carbon monoxide

Question Number : 69 Question Id : 50521224247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 50521224248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which one of the following plants is used for making containers and in making houses :

Options:



1. Sugarcane
2. Bamboo
3. Maize

4. Grass

Question Number : 70 Question Id : 50521224248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 71 Question Id : 50521224249 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following food habit will help to reduce 'carbon footprint':
Options :

1. Eating meat and fish

2. Consuming preserved food like canned beans

3. Consuming diary products

4. Eating local grown food

Question Number : 71 Question Id : 50521224249 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 50521224250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tropic of cancer passes through which of the following Indian states ?

Options :

1. Gujarat, Maharashtra, Madhya Pradesh, Chattisgarh, Jharkhand, West Bengal, Tripura and
Mizoram

2. Gujarat, Rajasthan, Madhya Pradesh, Chattisgarh, Jharkhand, West Bengal, Tripura and

Mizoram
3. Gujarat, Rajasthan, Madhya Pradesh, Chattisgarh, Odisha, Jharkhand, West Bengal and Tripura

4. Gujarat, Rajasthan, Madhya Pradesh, Chattisgarh, Odisha, Jharkhand, Bihar and West Bengal

Question Number : 72 Question Id : 50521224250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
F5 1@ 9 ¥ o AT = ﬁ‘%ﬁ{w 27




Options :

A R

| T, HENTSZ, H5T TS 9T, e e, TNEE, T ST, Eiu g T

TSI, TISTeU, Al T, ST, ARG, Ui s, e ve fosre

TR, TS , T AT, TREE, AN, FES, TYH s 78 By

. TSI, T | 5T e, TRIETE, SATEI, TGS, [9er ua gty S

Question Number : 73 Question Id : 50521224251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an urban setting, a vegetable vendor cannot retain the produce for a long time and decides to

sell it immediately at low prices. This is because :
Options :

1. he is not educated to make informed decision
2. he lacks the sale skills

3. of distress sale as items are perishable

4. he is unaware of market rules

Question Number : 73 Question Id : 50521224251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 50521224252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following birds have filtering system in their beaks :
Options :

1. Flamingoes

2. Robins

3. Macaws

4. Sparrows

Question Number : 74 Question Id : 50521224252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 50521224253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the pair which are examples of insect larvae :
Options :

1. maggots and beetles

2. catterpillar and flies

3. beetles and flies

4, catterpillar and maggots

Question Number : 75 Question Id : 50521224253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 50521224254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The nature of EVS is
Options:

1. Integrated

2. Disciplinary

3. Intrarelated

4. Static

Question Number : 76 Question Id : 50521224254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Tt uw. &t HTE z

Options :

Question Number : 77 Question Id : 50521224255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

EVS curriculum is based on themes because

Options :

1. Themes allow a connected and inter-related understanding of the environment of students
2. Students can learn EVS easily

3. EVS can be learnt by the students by their involvement in teaching learning process



4. Teachers can facilitate student's learning easily

Question Number : 77 Question Id : 50521224255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 50521224256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

EVS for class IIl to V as a subject, integrates science, social science and environmental education as

per the recommendation of
Options:

1. NCF 1988

2. NCF 2005

3. NCF 2007

4. NPE 1986

Question Number : 78 Question Id : 50521224256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

| TAHITE. 1988

, TAHELTE. 2005
5 TAHLTE. 2007

4 TAHTE.1986

Question Number : 79 Question Id : 50521224257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following may be the most challenging for an EVS teacher in her EVS class?
Options :

1. Geographical location of the school

2. Big schools in metro cities

3. Addressing diverse group of students

4. Gender of the students

Question Number : 79 Question Id : 50521224257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 50521224258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following type of learning is appropriate in EVS classes?
A. Learning by doing

B. Learning of descriptions

C. Learning of definitions

D. Discouraging rote learning
Options :

1. A, Band Conly

2. A and D only

3.Band Conly

4.B, Cand D only

Question Number : 80 Question Id : 50521224258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521224259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

"Things we make and do" in EVS curriculum is a
Options :

1. Theme

2. Subtheme

3. Syllabus

4. Topic

Question Number : 81 Question Id : 50521224259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 82 Question Id : 50521224260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which is/are strategies for sensitizing the students on the issue of protection of animals.

A. Stories and narratives

B. Experiments

C. Comic strips

D. Poems
Options :

1. Aonly
2.A,Cand D
3.Donly

4.A B,Cand D

Question Number : 82 Question Id : 50521224260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521224261 Question Type

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The objectives of conducting activities in EVS classes is to

A. provide opportunities to the students to explore and observe
B. develop psychomotor skills of students

C. develop aesthetic sensibility of the students

D. help students to memorise the related content
Options :

1.A,Band D

2.B,Cand D

3.A, Band C

: MCQ Option Shuffling : Yes



4.A,Cand D

Question Number : 83 Question Id : 50521224261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 84 Question Id : 50521224262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students' questions are important indicators of their EVS learning because
A. questions help to assess students' knowledge
B. questions provide an opportunity to the students to express themselves

C. it indicates their curiosity for learning



D. it evaluates psychomotor skills of the students
Options:

1.B and Conly

2.B, Cand D only

3.A,Band Conly

4. A, B and D only

Question Number : 84 Question Id : 50521224262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521224263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student of EVS analyses the problem given by his teacher. Analysis is a



A. Process skill
B. Cognitive process
C. Product skill

D. Psychological skill
Options :

1. A and B only

2. A, Band Conly
3.A, BandD only

4. B and Conly

Question Number : 85 Question Id : 50521224263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 50521224264 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following can also be a good resource of EVS learning other than textbooks and

teachers?

A. Newspaper

B. members of the community
C. Poems

D. activities
Options:
1.A,BandD
2.A,Band C
3.Aand B only

4. Cand D only

Question Number : 86 Question Id : 50521224264 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 50521224265 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following issues will be discussed in the EVS class?
A. petrol prices

B. protection of animals

C. water crisis

D. concentration of carbon dioxide in the germination of seeds
Options :

1.A,Band C

2.A,Cand D

3.B,Cand D

4. A,Band D

Question Number : 87 Question Id : 50521224265 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

. A BFAC

, A, CTAD

, B,CTAID

. A,BFID

Question Number : 88 Question Id : 50521224266 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following can be the indicator of social skills for assessment in EVS ?
Options :

1. classification

2. Analysis

3. Sharing and working together

4. creative writing

Question Number : 88 Question Id : 50521224266 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4, FoTCH

Question Number : 89 Question Id : 50521224267 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

"Categorising the animals based on their colours".

Above the line indicates
Options :

1. Learning objective

2. General objective

3. Learning competency

4. Learning process

Question Number : 89 Question Id : 50521224267 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 50521224268 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students of EVS assessed by a teacher through observation, by asking them questions, their
involvement in drawing pictures and participation in discussion followed by unit-test shows that

their

Options :

1. teacher is using observation tool

2. teacher is using summative assessment
3. teacher is using school based assessment

4. teacher is using peer assessment technique

Question Number : 90 Question Id : 50521224268 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

505212779
4

Online
Mandatory
17

17

30

Yes

1
5052121407

Yes

Question Id : 50521224269 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Question Number : 91 Question Id : 50521224270 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 92 Question Id : 50521224271 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521224272 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 94 Question Id : 50521224273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 95 Question Id : 50521224274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521224275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
HATSTERETeaT HISH: 2

]

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521224276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T mwfdﬂwmﬂ'@ﬁaﬁ?
| TETEETEE FE U SR ST T WA |
2. TEETE O T 9 |

3. {-:ﬂc]-:ﬁl—aﬁ e T: iﬁa’dr‘-{t!: I |

4. TITIATET GO W |
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521224277 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TR S U8 Wi-ie=ag 4 |
. g + ¥19Eq

. Tl + TFEq

3. 9 +d8d

4. TeT + ATGEq

S

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521224278 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



]

3.

4. T
Options :
1.1
2.2
3.3
4.4

Question Id : 50521224269 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension

PR T W Ty AT A= et e e 2 |

TR e it A | v o g TR | o7 0 o T - o | e, 9T e o e
| T . VB I, T o T, T, e o7 = AT, | 7 2 e et e o | 0
o7 o = P et | R e e |

AT T T R 9| 7 T 8 1 T = ey A e, | T g e
o -« o e eSS | T e € RS R | A e | R
o T, 9 < T O 7, P A | 6 7 1, e, 29, o o | R e o e |
T R A U, 9 T | S W | 20 721 e, e S | e et

s, Tt o |
A 7. ) T 4 R T T T | S A S e g g [ W, R g
ST 8 e |

Sub questions

Question Number : 91 Question Id : 50521224270 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



g

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521224271 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i~ o
EMIGECEE TS HIHIH_\?

I SE
= L

[

2. fieRuaig 9q

3. O : | Iq:
t\'r ]
4. THOHA: T :
e -
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521224272 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



0

.l:-ﬁ!itﬂ fi-ld-'l*-tﬁ
. HTITUNTEY

g =

du

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 50521224273 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ERIEEEERE I ﬁmﬁT AT ?
1. =99 9497 Fedl %mﬁj
. TR TYT FeaTier |

[

3. ST qYT FeaTieEr |
4. eI YT =919 |
Options:
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521224274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT FHF: T AT
1. sfwuae

2. T
S,
T T4

e .,
b

FEOH

e .,

=7

o
d

Y]
it |

&
+

=

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521224275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
HATSTERETeaT HISH: 2

]

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521224276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T mwfdﬂwmﬂ'@ﬁaﬁ?
| TETEETEE FE U SR ST T WA |
2. TEETE O T 9 |

3. {-:ﬂc]-:ﬁl—aﬁ e T: iﬁa’dr‘-{t!: I |

4. TITIATET GO W |
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521224277 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TR S U8 Wi-ie=ag 4 |
. g + ¥19Eq

. Tl + TFEq

3. 9 +d8d

4. TeT + ATGEq

S

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521224278 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121408

Question Shuffling Allowed : Yes

Question Id : 50521224279 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



STRRTEI ST ShISTTE ST SR |
T FEF T I Fea =ae 11|

eq:n??r Ammnd :a-mw a'e_'muri |
Afaae fagfalE qﬁt{m-‘mﬂﬁ 1211

EFFI‘ itedeat faeamergFarsia & |
nﬁmﬂﬁa d: ?m’qﬁrqmw 11311

T FEEAR Tege e |
SstarTeE o farwesed warTEH |14]|

TEEIST: TRNUIE ETaeAT Saf=oaT |
T2 7T w72 gt sTTer S 15|

Sub questions

Question Number : 100 Question Id : 50521224280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

mﬁﬂ%ﬂ#mmﬂaﬁ
. AT

171}

Options:
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 50521224281 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

- [y
Eﬁ?%ﬁ'ﬂ?ﬁ?ﬁ@ SIER: FAed: ?

1. FH=9: aﬁ-d |

T T 370 |
3. F uE fagE: T |
4. |G \hr:'i':ﬂ-‘-l".d(‘lrl-;ldcﬂi: 1

[

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521224282 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=, ™ = ™\
%ﬂmmmz he HE doaAl 1shed 7
- 8 5 w5
[ | b
1. HIUI "l-lciﬁi'-_'l-l Ul

3
4, HISHREIEFI
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521224283 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



:

3
4. §EEIET:
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521224284 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
“Fereragest: geAfee e o: gar: forerd
1. AT g
2.57a:
3. TETATET:
4, ST
Options :
1.1
2.2
3.3

4.4

Question Number : 105 Question Id : 50521224285 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Id : 50521224279 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

STSRTEI ST ShISTTE ST SR |
T FEF T I Hea =Eae 11]

FATE: SIERIE :B%ié] aguma l
AT fararate JE=aT T 112

EFFF yivedeat faerarergFatsT & |
nﬁmﬂﬁa d: ?m’qﬁqmam 11311

T FEEAR Tege e |
SrETgE! o e e 14]]

TEEIST: TRNUIE ETaeaT Saf=oaT |
T a7 W e AT T:Gb?ﬁc\:éfnl 11511

Sub questions



Question Number : 100 Question Id : 50521224280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR WIS a2

1. eTTeferare

2. TEm
3. T

:

Options:
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521224281 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e, [
Eﬁ?%gmﬁ?ﬁgf EER: FA: 7
. F = AT |

T T 370 |
3. 39 9 fTamE: T 5 |
4. &G xﬁ%mﬁmm: 1

I3

Options:
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521224282 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

=, ™ = ™\
%ﬂmmmz he HE doaAl 1shed 7
- 8 5 w5
[ | b
1. HIUI "l-lciﬁi'-_'l-l Ul

. Tasereor

I3

3
4, HISHREIEFI
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521224283 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T Hﬂﬁiﬂ'\%t@ﬁ ﬁ-—r%:rmfm 99 ?
1 ?“ﬁ“
2. HIg:

3
4. SgEMT:
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521224284 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521224285 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

wfereaes FHISY 2

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121409

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521224286 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



|, EEfquiaTaTa
Ly

2. TETUEETaTE)

3. SAU=TERATETaTE

4. FHTI=TIERATATER0]
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 50521224286 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

aﬁﬂm:@m mﬁ-i-l-lhalizjlr:ﬂal TSt Tt 2
|. TEfootETaTE
L=

2. SIS

3. STu=TEaTETaTa]

=, iy

4. =
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521224287 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WTSTET: STEATO - STTERTAa=aH FFeTer gy 7 STt JeioresT 77 2
|. Towre: sidTea: #a: fTaedasEe faee i |
2. UTGATEATTEH (R ISUREUUT {eARGaT e |

3. FHFEA AT T |

4. FHEIRGAT A |
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521224287 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WISTIT: TSI - ST ﬁw%?@ﬁgﬂﬂﬂtﬂwﬁw T 2
|. Taome: sraTea: #a: Faerdmsee (v wiEar |
2. UTEITEAHCIEe SR Taureyur ferfgar e |
3. TR AT T |

[
4. FHERYAT] SIgHE== |

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521224288 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



DTN TS T TRTERY U AT, T gy e FeaTg et Werae War 7
1. SEUART:

w

. ST (Comprehension)

=

3
4. Hq:

=1

I

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521224288 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i

i [ = i X -
BIEENRIEREZE IR H&R‘EE‘—[ E!IdUIH\HHIUII@TTg ) HC\NIE,:W! HEMW—L‘-IGIIH 7
1. STETddEm:

bl

2. RS
. ST (Comprehension)

-

3
4. E4q:

-1

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521224289 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T ST 7 T, et U3 | T : g, 1 " AT, e | T g T 7
|, SHETRE: T

[
-)%

3, S
4. ST, (ntake Activity)
Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521224289 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

asﬁaa;mm: 4 ‘«IiQﬂH\d‘“{M\{UI T30 | T W%&Hﬁ!ﬁlj\m w-rwﬁ;gjﬁ‘?ﬂ?% | TG g Al T ?
|, VR T

[
;—%

3, S
4, ST, (Intake Activity)
Options:
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521224290 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FETITERT WTSTIT: UTEA mgmH%@r% ﬁmﬁ%ﬁg%?ﬂﬁw
1. SHTRIU-FFH: |
2. ITeRTEATER: (Lexical Sequence)
3. AL
4. =AH-3F:
Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 50521224290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FeTTehr WTSTAT: Ut x?v-liﬁﬂ-!m&lf% ﬁH%F@%g%?Eﬁ%ﬂ—
|. SATHRIUT-ZRH: |
2. FeaTa R (Lexical Sequence)
3. 1A

4. FH-F:

Options :

1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521224291 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TEhaE TEaaT, TeATTH: Heleh FRar 3 ThHavie Herdr
g g e S e e s R e
FedT FHUATT — <37 Ufaet: Fie: A a6 5t Ferst ar
TGehaRIeaT YT - T FHerHt Thi & TaT T Ueh Feld Teed
TR TT Ue Uf~aed giearmarg (Pocket) 1Xfd | 7&T & e -
“TUe: FeTT: TF T Fad, YT Ueh UT~aeTs Jieshmarg g | ueT
o aTeare o vt wra vt -

: &W(Simation Approach)

: 1é|T‘EI'E!T'TQE:I"E[(CCrmmuIlic.?rriw: Approach)

A, W(Demonﬂrative)

4. TcF&qerd (Direct Approach)

s

[~

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521224291 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

EHTE TEHE, FAIF: Feleh T 3 ThHavl FHem
7% o A B T S | T e v T
wmmﬁr—“mﬁﬁ?fr FreT: IfeT TETw gt et v
TEha e YA - T FHerst Thi &7 TaT § Ueh Feld Taaed
TR T sk Uf~det g (Pocket) AT | 7aT & HUHMT -
UE: T T T JAd, YT U8 U-aerq Jieahrar g | T
ToRaT STEATI & U W FUiEn -

: &ﬂﬁ'ﬂ'&%‘{(Simation Approach)

: ‘H'Eﬁl'ﬁl'ﬂm&:l"i[((?t}nmmnicative Approach)

3. 1;‘I‘tﬁ’\“:rﬂf&%"i[(Drenmns’rra’ri‘ve)
4. TFeqerd (Direct Approach)

ot

2

Options :



1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521224292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o e [

WWT%F&UH%WM-H% Hﬂéﬂiﬁm"%@gwmmnmw-
a. TTOToReT 9T T & |
b. ToT: TeETEH RO = |
SATeAohed ATaTaior |
d. W ou=4 |
|. FIA aTqATb
. Tae a, bFUTc
. ®EA b, cFATd
4. FaA a, cqATd

c

-J

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521224292 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



a. WTETSRET WIS i &1=: |
b. T=T: Seameg SO = |
c. TTeAF ATATeo |

d. TE=mR: Uy |

[ [ \r?\ TR B = T o
A=A E A [dsheldd Uy (=0 -
3 3 5

=
|. FIAaTgTh
Z
3

. FES a, bFUTc
. Fae b, cFUTd
4. FFF a, cq4Td

Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 50521224293 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
AT FETTUI R T e -
1 maﬁ?a-@ Erﬁ.ﬁﬂ(ln’mnation) AT I
T |
. TR AT WS ST 7 FAYET: |
3. T, TR AT T ST iae Sheall J[EEY A: |
4. TuRfaeTeRET ST |

Options :

3

1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521224293 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
AT FETTUI TR I A1 -
1. T ap: = STeT (Intonation) SATHeawHET Te&T
|
. WO AT YA GTaET: = STfary: |
3. TR, FREh AT TS STeaT Ui Fhedl Sy TamT: |
4. uRfaeTeReT ST |

Options:

[

1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521224294 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT {C.‘omprehension}m AT TR Hﬁl—l%dﬂ\aﬁd |
. a0 U 7 |
2. Hauwﬁtg-u-rﬁH
3. US|

4, T WO 7 |
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521224294 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AdaT= (Comprehension) T WHW‘WH&R{W\@% |
. 2o 9aTq = |
2 wuwﬁtg—u-rﬁH
3. U o T |

4, TG YO 7 |
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521224295 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TRATE e e &1 Rt foae 2
1. T=THTET
2. T TS
3. TerermmeoTET T
4. TE-T<THTET (Associate official language)
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521224295 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ﬂmﬁmﬁ%ﬁm w1 feufa: T 0
1. T<THIET
2. STRTEE WTHT
3. TereqmmeoTET T
4. HE-T=THMT (Associate official language)
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521224296 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T I eI STTETeraTST 31 fafq: wam 2
1. TTST9TET (Official Language)
. TISTTETER TS
. TR |
. HE-TI=THTET (Associate official language)

R ST

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521224296 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT AT SITZTerTST 37 e e 2
1. TIST9TET (Official Language)
2. TISTETE WIS
3. TereTTETET wTE
4. HWE-O59ET (Associate official language)
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521224297 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

B

saiaa (Phonology) U SFarraT: W= | ﬁwmmngm FRTETR 599 T
1. ST (Stress)
2. FYREM: (Intonation)
3 ™

4. Tt (Skimming)

Options :

1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521224297 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



%Eﬁ%m%r (Phonology) U= aqdT: e o | ﬁ'ﬁ%ﬁﬁﬁ'@%: %aﬁ%ﬂmzr T TR O
1. SATHTE: (Stress)
2. TR (Intonation)

s ™

3, wa
4. Tt (Skimming)
Options:
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521224298 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS HEEaRaaal o A1 2
1. == WﬁW{DemdngE
2. WWW{SCEHIHHU]
3. Ellu-itirt[\udﬂH‘\{Ilﬁeren{:e]

4. JEA-I=ARITLH

Options:
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521224298 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST FETIR AT T AT ©
|, = HﬁﬂHﬂﬁ%\dﬂHﬂ{ Decoding) =

f , . .
2. Hmﬂﬂtih\HIQQH ATIATRH (Scanning)

3. WIS USH (Inference)
4. JEA-ITARITIH
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521224299 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
FLG FAIF: B T &, TATHUSH U AF=08 forad |
U | I U AU ToT@ | TaT ¥ AU Ffeed
YR forata q9T B TR o9 o 6 68 SUgHea™y
AT STES% I &Y |
TR e A -

|. Su=AfT (Achievement) T

2. Hﬁm(lntelligence)qﬁ&'ﬁ

3. arefary (Comprehension) Ur&T

4. FATTEITEETANILET (Close Test)

Options :

1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521224299 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
FT HEATF: BE: AT 5o, TAFILH U =08 orad |
T L USThT: STV T | et § e Hitewa
wreaT, ferafer o P e 7w & AT oA gy
e pID] ﬂ%‘d@ﬁ I
TR T oA -
1. IuAfeHT (Achievement) TreTT
Z H‘Frrm(lntelligence)q'ﬁ'i‘ﬂ'r
3. arefary (Comprehension) Tr&T
4. FAFTTEITSETANTIET (Close Test)
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521224300 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T-:IH%RQ;IEHlﬂ@?:ﬁ?mmﬂzﬁ%ﬂﬂiﬁﬂﬂﬂf% 2

. TET: ﬂ'ﬁa"fﬁmﬁ fafeTert = =vaH AT et |

. THemTicHeT: AT - UHeT: = 19T Jva] FeET: | |

3. UAT: UITHEHEAT: FIHFAR ST 7 6 |

Options:

—

]

1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521224300 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Language II
SectionId: 505212780
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121410
Question Shuffling Allowed : Yes

Question Id : 50521224301 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No



Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 50521224302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ToTeqT o Topeeh! ST T 4T & ShT &1 i TS 27
|. 97T ToR@™ | Fep1eh! o T SR ST o
2. WTST 3R THT o Gae T A |
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Options:

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521224303 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
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Question Number : 123 Question Id : 50521224304 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
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Question Number : 124 Question Id : 50521224305 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521224306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
 STTLTRUT T AL T —
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3. gitTET
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Options:
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1.1
2.2
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Question Number : 126 Question Id : 50521224307 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521224308 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 128 Question Id : 50521224309 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Id : 50521224301 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)
Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 50521224302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|. \TeT @™ F FehTeht 3 TFT ST ST
2. HINT 37§59 3 & i S |
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Options:

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521224303 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 50521224304 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521224305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521224306 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521224307 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521224308 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521224309 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

I-J
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4.4

Sub-Section Number : 2
Sub-Section Id : 5052121411

Question Shuffling Allowed : Yes

Question Id : 50521224310 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension

et &jﬁtﬁb&'ﬁ =T ﬁﬁ%@ﬁ*ﬂﬂﬁmgﬁ%ﬁ'{w-
AT T H TATS S T % a7 7 THER G T T84 21 [@iere
I ST YT 2| FHETER O W S0 397 7 WA, §h S I
¥ qHEE o9 0 2| F SET 191 #A 7 59 3w ¥ e o= o
S =1t 99w U 219 ¥ 9% <9 ST € S oA THTSEe
HHET AT 2| T & A A H FEER O F A 8 F A
TATT AR T8 TSI o T8 %2 UTd| TH=E 0F U 7 9 J=4dT
T A0 TR AR T W TR A 8, GO TR 39T H Ygo AN e
AT 9FT d 2| S37 1 T8 TR | U 997 i W@ F e
AT TEEAT TR O | 9ol 2 ST 9E el o1 = & =2
AT, AT FHTER U1 &1 920 7eed 2

Sub questions

Question Number : 129 Question Id : 50521224311 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
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Question Number : 130 Question Id : 50521224312 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
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4.4

Question Number : 131 Question Id : 50521224313 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521224314 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 133 Question Id : 50521224315 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
freAferiaa T/eat 5 & HH-91 | STE T S0 TE 57

L. gam
2. I8
=]
3. "EER
4. 9%
Options :
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Question Number : 134 Question Id : 50521224316 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 135 Question Id : 50521224317 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 50521224310 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 50521224311 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 130 Question Id : 50521224312 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 131 Question Id : 50521224313 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

29T 1 THT TR T T TIT TS TE T AT E —
1. 2371 ST | TR S
2. 1T AT T SR 9 AU (=R @ F
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Question Number : 132 Question Id : 50521224314 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 50521224315 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 134 Question Id : 50521224316 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 135 Question Id : 50521224317 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Sub-Section Number : 3
Sub-Section Id : 5052121412

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 50521224318 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 136 Question Id : 50521224318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 137 Question Id : 50521224319 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 50521224319 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Question Number : 138 Question Id : 50521224320 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3

4.4

Question Number : 138 Question Id : 50521224320 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 139 Question Id : 50521224321 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 139 Question Id : 50521224321 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 140 Question Id : 50521224322 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T AU X 0 7 9 7 1 o g 1 e 37 et i T T e o
e o 9 -4 e e g 1 50 o @ e e 2
1. g o
), e it ()
3, TG ety
4, g
Options :
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Question Number : 140 Question Id : 50521224322 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

memmwﬁ@m%ﬁmﬁﬁﬁ%ﬁﬁwﬁmmﬁﬁrm\wm gﬁdw 7 o 2|
TG & 8 .1 et e g 1 9 7o e Qe 27

1. g o

), e ot ()

3. e fafy

4, T e

Options :
1.1
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Question Number : 141 Question Id : 50521224323 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 141 Question Id : 50521224323 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 142 Question Id : 50521224324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 50521224324 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 143 Question Id : 50521224325 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frAfefEs o & F9-91 919 U3 1 =79 T8 27
1. =€ Tt i 37k o7t wehre 50 #aT |
3. Taemdf ooz va Tew o 319 TR A 2
4. I ToEidaT 9 wo4: 599 S TG fGea w2
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 50521224325 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 144 Question Id : 50521224326 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 144 Question Id : 50521224326 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 145 Question Id : 50521224327 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 145 Question Id : 50521224327 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 50521224328 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 50521224328 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 147 Question Id : 50521224329 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 147 Question Id : 50521224329 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 50521224330 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 50521224330 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 50521224331 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 50521224331 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 50521224332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 50521224332 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



HTHT-3TSI7 T 7T & —

1
2

Y]

4.

. Tereft wTeT = s3TeRr o et R EE

. Tereft wreT =t eI aiEer § S 9 w5 H g =
. TRt e = S i § S e

HTST o &1 F HigT|

Options :

1.1
2.2
3.3
4.4



